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QUESTION 1

How can a report be set to be stored on the file system? 

A. Schedule a report. 

B. Create a new report. 

C. Edit an existing report. 

D. Change a properties file. 

Correct Answer: A 

 

QUESTION 2

A developer needs to set a default value if a particular element in Process Data does not exist. Given the following bpml
code, what is the correct corresponding rule? 

A. FileSize = 0 

B. FileSize.length() = 0 

C. string(/ProcessData/FileSize) = 0 

D. string-length(/ProcessData/FileSize) = 0 

Correct Answer: D 

 

QUESTION 3

A company requires all data at rest to be stored securely. How can this be configured in IBM Sterling B2B Integrator
(SBI)? 

A. Import a System Certificate. 

B. Create a PGP Server Profile. 

C. Enable Document Encryption. 
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D. Configure an Obscure Data service. 

Correct Answer: C 

 

QUESTION 4

A developer has created and deployed a LWJDBC adapter with all the setting completed. The developer has used the
following SQL in the SQL parameter UPDATE TEST SET CERT = O? WHERE CERTREVIEW = ?. parameter UPDATE
TEST SET CERT = ?O?WHERE CERTREVIEW = ?. Which setting needs to be added into the configuration of the
LWJDBC? 

A. var1 

B. param1 

C. var1, vartype1 

D. param1, paramtype1 

Correct Answer: D 

 

QUESTION 5

A developer uses a dynamic value in multiple Business Processes (BP) which can change between environments of
IBM Sterling B2B Integrator (SBI) using sci-get-property. Which two methods could the developer use to reuse the same
BP with different values in a different environment of SBI? (Choose two.) 

A. Add an entry into the /properties/sandbox.cfg and restart SBI. 

B. Create a customer properties file in /properties/ and run the Cache Refresh Service. 

C. Add an entry into /properties/customer_overrides.properties and use the Cache Refresh Service in a BP. 

D. Create a custom table and use a Lightweight JDBC adapter to retrieve the data and insert it into cache using the
Cache Refresh Service. 

E. Use assign statements followed by the Cache Refresh Service in a BP which runs once at the startup of SBI and can
then be used by other BP. 

Correct Answer: BC 
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